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5 GUESS PAPER MATHEMATICS CLASS 9'" 5
g All Punjab boards o@ipakcny.org%o g
. CHAPTER # 01 (MATRIX) -
g Q.1: Choose the correct answer. o}
g 1  The order of matrix:[2,1] gz, g
o a) . 2-by-1 b) 1-by2 c) 1-by-1 d) 2-by2 o
o [ 2.0 ] is: ?ga__/'KLﬁf &
g a) ’ Z:E/E) b) Unit c) Diagonal d) Scalar g
E 3 Finci/a_djoint [é _1] WS gAY p g
2 0 1 =2 1 2 2 0
g [ 0 ﬁ] b) 0 -1 ) o i 9 [ 0 ﬁ] o
g 4 Find X' so that | i g‘ =0 S g
a) 9 b) -6 c) 6 d) -9
g 5 Find product [x,y][_zll _q/(}’”-,«ﬁfta g
g a [2x+Y] b) [x-2y] c) 2X-y d) X+2y o}
g Q.2: Attempt any 15 questions. N (o]
g 1 | Define matrix. S 8N |11 | IfB= 11] th?\@m_z g
g 2 | Define order of matrix. S e pEE | 12 Slm%ﬁtgagr S g
o) When two matrices Y PN g @ ] nd B= [ ] then &
g > become equal? e /& = zit_aé} g
g 4 | Find order of matrix F={0}. 'J/(’l’”‘-{zr /0 4 | Find [-3 O][g] -qj/(}” g
Difference b/w 5
g 5 | rectangular & square %J/ 15 | Multiply 8 5] [ 2 _El “Jre s g
(o] matrix. 'J/ e/ ; o)
g _ _ Q I Difference b/w singular &non- NGk 2 13150 &
E 6 | Define null matrix. N 16 idoular realicss. -ui‘”ﬁu"/'uﬁ g
g 7 | Define symmetric matrix. 4/JJ*JG{/Z'; 17 | Find determination of [g 2] _q/pbfﬁa- g
g Define skew symmetric by/?'JJﬁ{zﬁ Show that matrix is singular or not b6 S e g
3 | matrix 18 [4 1 .
g ' S | A, e | 8
g 9 | Find transpose of [; 4] ..u“/pl’”s,grjlj 19 '{zqd m;]Itlpllcatlve inverse of r,bxu,ﬁ»:_j; g
=" -
g 10 | If C=[1-1 2] then find 3C -u:/()"’?xC:[l -1 21/ g
& o
- .
2 , 2
g o
o o
2] g o
o &
& &
& o
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CHAPTER # 03 | )

Q.1: Choose the correct answer.
1 Ifa*=nthen

o o
o o
o o
o o
o o
g a) a=log, n b) x=log, n c) x=log, a d) a=log, x g
o 2 The relation y=log, x implies:- . t'/ugjb’ﬁ; o
g a al=17 b) z' =X c) X =y d) y2 =X (o
g 3  The logarithm of unity base is:- _c‘;.t’%/:l/,//(ﬂgl g
& a) 1 b) 10 C) e d) 0 o)
g 4 The logarithm of any number to itself as base is: ?éﬁt'ﬂ/:l/:é‘j(ﬁ}!;wtjwl&j’?/:}f/&[ ﬂ
g 1 b) 1 ) 0 d) 10 ]
o] 5 Lloge=..... where e = 2.718 2]
g a) 0 b) 0.4343 ) % d) 1 g
o Q.2: Attempt any 10 questions. o
g Write in scientific . Find the numbers whose ("L"'{—-ﬂ)/ﬂ(d’?ﬁ} o}
o | | Ak | 8 N ot
r notation. 0.00000000395 common logarithm is 3.5621 /S e
p Werite in scientific 5. s . _ R . p
£ 2 otation. 5700 _g.‘.‘”gu:ﬁ/g*u 9 | Find unknown log,6 = 0.5. _q/r}*’_#jJrPL o
Write in ordinary notation. 5 Evaluate log 512 to the base
g 3 | 5.06x 10" ' Aludip | 10 217 Y g
e Write in ordi tati . g
g a v ):llglln ordinary notation. _uf"juf:@}'fu 11 | Find x where |O@@2 _q/r}”.:«fJX g
(o} c Define logarithm of a real Jfgjﬂﬁuf&? - Wik S)‘ fifference u_g,g T ]
g number. _q:/_éj/;)‘ IO?@@ U U Ler g
ﬂ 6 Difference b/w O Ll o te in the form of single u“’g nyﬂ l ﬂ
g characteristic & mantissa. Nl 729 }Togarithm 2logx — 3logy als “r g
o) \g Find Iog % where log 2 = (o]
Find the common @ 15 i 16
5 7| logarithm of 0.00032 &5@} Jipk | 141 03010, log3 =0.4771, logs = |  ~/p# =l log 1 g
a Y 0.6990 a
[ Q.3: Attempt any 2 qug@}u [
g 1 | Use log table to find (43?)88;)405 . _ufb?J’LﬂL/JWIJf(E/fU g
& | 2 | simplify¥342.2. NINAN
g 3 | Express an single logarithm logx-2logx+3log(x+1)-log(x*-1). _.u.‘."gu:fd/(gfu,wu g
e CHAPTER # 04 .
o Q.1: Choose the correct answer. e}
g 1  Conjugate of a+Vb is:- ¢ve S 765 at\Vb g
o a) a-Vb b) -a-Vb c) Va+/b d) Va-Vb o
2 The degree of polynomial 4x°+2x%y is: -€ 5.5, 4x*+2X°y o}
g . 1 b) 2 ) 3 d) 4 o]
p a’—b? p
o 3 T e, o
g a (a-b)’ b) (a+b)’ c) a+b d) a-b o}
g 4  4x-3y+2 is an algebraic: 505006 4x-3y+2 g
o a) Expression b) Sentence C) Equation d) Inequation o
g 5 arb)(vavh): o
g a a’+b’ b) a’-b’ c) a+b d) a-b o}
- ¢
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o Q.2: [o] o]

o At =)
1 rempt (o] o4

& Defi any 1 (o] =

fin 0 dﬂ
o Defin | fo ]
o e radi oo

3 Redu cal ex pa
p £ ceinlo pressio "U.:/J/JJ" pap
p rm.Ba(x+1We5t ). i UJJ/ Fi aaa
o 2(x? ) 1 ind (m’ o
4 Red =) JSw/ m +n’ [o] ¢}
g uce i [/ +N+p= +p2 . d
x2— in Sz p=1 ) if o]
p 4x low «ub mn 0 na
o) 2x2_;4 astform L) 12 | Fa +np+ml;=27 gy
5 | E | oy ctoriz ' /) &
g valuate Ty /ﬁ - e 8)(3_ 1 I‘J.:/(r}b/( 2 d
z=-2 X . Def. 27y3 . m +n2 ﬂ
g 6 Xy if x=3 ine Su +p2)
a Simpoli , y=-1 --u:/( o rd. a
1 ) ead
£ plify 9 - o (o
o TR i g/ Simplif iR
o plify (< L2 e 22 yV14.Y e o
o 8 Find (a2 -49), 22 XY 15 Expre 3 (o g
b= +b?) i il Press s .
g 9 | Fi °: ) if at+b= g/ simplest urdin o
p ) Find (ab) . 10, 3- 16 | Sim form m —'Q://E? a
o o | Find (¢ if a+b=5 F AR 2N plify Y22 - g
n Q (X _|_y3) |f ) a_b:17 .j/[%/r’b/ 7 OIVe \/45@ . a
a 1 3: Att X+y=7 . / (aZ+b2 4\@ | —3\/20 #Q://E?

. em , Xy= S ) | 1 T d
gl 2 |F =, & (x=)’1 questi S S (ab) plify (V5 AR -
(o} Find a2+ ~)" if tions e (5 19 | Fi 5 ++3

3 = X=2+ . (C+y? ind p+= i 3)°. 3 £
g Simol 52 if x= V52 V3. y)| 20 | F p+p if p Q:/Jp a
plify = /5 ind L =2+V3 o
g oo Eon
a +2_\/a2_2 m 7 ”d..//ﬁ? u
Q.1: =2 Py \9/\/‘ - ) * 'u:/ a
g 1 1: Choo CH v;\’}@ & /r!l’” p+1 a
o] a) The fac Sethec APTE Q;Sj% - Sy, | B
2 T -5Xx+6 answ N /ﬁq/ o X a
g a) he factors (x+1);()(-6)arez [ (X-l)z a
of 8x° Sl - X /9! )(-l d
3 X l [
(o] The f (2x+3y) +27v% ar 210 x%=5 Q:/(,J,, 2 1x o
a a) actor !(4)(2_6 UV AT b) X+6 . a
o 4 s of 3x°-x Xy+y’) ) ‘/L-lIZIL Q@ J/l A o
a Wh (X+1 -2 are: 8X3+27 3 (X“Z))(x pak . - /Ji? d
a a) at W- )1(3)(_ ) -wdﬁ/ b) y -3) 2 clty =
ill be 2) Loz 7L o .or o
[ o 5 Ei added t 71 3x°- X+3Y) c) 4 %" o]
o] ind m -16b° QL b Rz (4x°-6 .
a) o) b mple ) Xy+y” o]
2 that x2+ te the s V) (x-1),(x £
o Q.2: dx+mi quare (x-2) c) /(x-6) o
p 1 - Attem 8 is a com b) of 982_1 f(X—3)
a Factori pt an plete s 2ab? ﬂ
(o] 2 ze -3x° y10gq quare: -& 16b2 c) (o]
Fa y-3 uesti b 143" > L &
o ctori X+9xy> ions ) b O Ly
ize 12x2 Yy . g [TY (x-1 o
3 2x 0% = ),(3
o Fa -36 3! X+ C * 9a’- (3x+2

— X+2 i Ax+ ) 12 ) (o]
g4 orize x(x 7 - m S/, abzts o]
d Factori -1)'V(y_1) "U:/d/n ) r’h/;,}d/ 462 L:i("é/' JK n
a 5 rize 3x-2 : s 9 |F c) Lo M a
p 6 €X 'y2_6 -u:/d & Factori +1.2%+5 a

pactor V-9 # rize ' &
-7x-12 JASA oriz '
aagg . / 12 State © 4x2'16y2 "q:/df“ a
gg JIEF th remai ' ' o]
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o o
g Find reminder using g
ize3x*+12v7. £ | 15 [T 2
ﬂ 7 | Factorize3x +12y -‘_{/dj . -q/(#*dgy;g,»,gdg a
g 8 | Factorize x*+x-132. -JA S% | 16 g
g Q.3: Attempt any 1 question. o]
g 1 If (x+2) is a factor of 3x*-4kx-4k?, then find the value (s) g
of ‘K’
o N 3o AP B ©
& 2 | Factorize using factor theorem x +5x°-2x-24 S A iy S5 o
~ CHAPTER # 06 ( ) e
o Q.1: Choose the correct answer. e
g 1 HCF of 5x°y* & 20x°y° is: ¢ yz(” k¥ 5x7y* & 20x°y° g
a) 5x°y° b) 20y’ c) 100x°y° d) 5xy
o . )
g 2 HCFofa™b’ a*b’is: £ 1k 1S a%-b?, a%-b’ o
g a a-b b) a+b c) a’+ab+b’ d) a’-ab+b’ (o]
g 3 LCM of 15x°, 45xy & 30xyzis: :¥ mf |ib1s56 15%°, 45xy & 30xyz g
o a) 90xyz b) 90x’yz c) 15xyz d) 15x°yz o
£ 4 Whatshould be added to complete the square of x*+64? €¢c_st T V/20 t.g » J6/x*+64 g
g a) 8x> b) -8x> c) 16x° d) -16x° g
o 5  The square root of a*-2a+1 is: Knl Aok a’-2a+1 o
g a +(a+1) b) +(a-b) c) Q@ d) a-1 o
g Q.2: Attempt any 10 questions. () g
; 7. .3
g7 | 1 | Define HCF of an expression. ,q/_,y}"gffylju 7, %‘5@251 of 39x’y’z & oo B e
o e N T8 o
(o , , 5 PSS 10k @ >find LCM by factorization S 2k S 1 3l o]
ﬂ 2 | Define LCM of an expression. S Pdisall Pl Sl d
£ @é sl L | gy
. 7 2 5 6 7 : Find LCM of 102)(y Z; &
g 3 | Find HCF of 39x'y"z & 91x°y"z’. (ﬁ% e | 9 85x%yz, 187xyz’ -Q/(}’”J’uwm g
o] 4 Find HCF by factorization (Wf;@@f’uu 16 Define square root of an d/(j-/u,;?z:,lzd/,-j.’l o]
g X*+5x+6, X*-4x-12. A&\B L algebraic expression g/ g
AN . : — . -
2] Find HCF by factorization x*-27, (}J‘”dfa’f%ryw - factorlzatlonzto i O e S F 2 2]
g5 B b7 PR 11 | square root of 4x"- (o]
g / ' Fa ) 12xy+9y° - g
i iVisi o ..““45 L Ik
AN F;n;i I-2I(21F6by (;hwglcl)(r; rgethod 7 r‘J M:(H . o
g X“+3x°-16x, X +x°-10+8. i 5 g
Q.3: Attempt any 2 question.
E 1 :SJS)e(:;i\G/ision method to find square root of x*-10x>+37x°- -uj/('rl"‘(ﬂﬁﬂ..féé/b@ g
Use division method to find square root of 8x*-6x>+7x*- o
g 2 Ix+1- | 'u:)/r’lyf‘:ﬂ JJ“JJ.‘:&/”’I? g
ﬂ 3 | simpli x’+x—6 x°—4 B d
plify X J
[ o x2=x=6" x2-9 - g
g -
o o
. -
g -
o o
2 5
o o
o o
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CHAPTER # 07 { )

Q.1: Choose the correct answer.

1 %bﬂﬂyéu?wdrx,zg,z A statement involving any of the symbol <,>,<,> is called:
a) Equation b) ldentity c) Inequality d) Linear equation.
3 . o
. : : s 3, :
, X=... is solution of inequality -2<x< / 3 L@ pakcnty.org%n
=i XZ{:(-2<X<E 3 $
3
a) -5 b) 3 c) 0 d) 5
; If x is no longer than 10, then:
s 10edd X
a) x> 8 b) x <10 c) x <10 d) x> 10

X=0 is solution of inequality:

v f bl 5 IX=0
a) x>0 b) 3x+5<0 c) x+2<0 d) x-2<0
If a+c=b+c then a=b is called:

o o
& o
o o
o o
o o
o o
o o
o o
o o
o o
o o
o o
o o
o o
5 g
o o
o o
o o
o o
g s ) . . o
[ _¥2_Ufa=bix a+c=b+c/] o
g . Multiplicative . tracheotomy  £F
Iy a) Cancellation property b) — c) Additive property d) — o
g Q.2: Attempt any 10 questions. g
p _ _ _ J&'}L—*‘&J}ug O a
ﬂ 1 | Define linear equation. J oy, 12 | Solve 2 M/J" d
-JS (S
& ; . = B
[ o} . G2 % e absolute value of Ve ed 3 $rud” [o ]
2 | Define identity. Ay 2
(o A  \|prea number Sl o]
p - - ¢ a
o . . . i AP o
3 | Define conditional equation. 14 | Solve |3x — 4|=4. e 94
o ¢ . o
o QI o
£ | 4 | Define line segment. {&2}9@5;}5 15 | Solve |2x + 5|=11. -Li/f g
- NS .
a \B\' i J}Japl;bﬁ&ni a
g 5 | Define inconsistent equati v 7 Senl- | 16 | Define linear inequality. i } g
-
o S o
o Ay L A e &
£ | 6 | Define radical equation. "/Jd/ o 17 | Solve 3x+1<5x-4. IS o]
o £ : o
-
& T o
— 16
g 7 | Define extraneous solution. 78S s 18 | Solve 4-%% = =]+ %x. S g
-
o 8 | SolveZx ——x = x +— JASF | 19 | Solve o BT IS o
ﬂ 3 2 6 T 4 ' TV a
g 9 | Solve %—%;1. _J/ S | 20 | Solve -4<3x+5<8. S g
p 5(x—3) . X ; ; . State trichotomy property T a
[ o 10} Solve 6 =15 pakcnty.org -GS | 2 of inequalities. S G0l o]
g 11 | Solve V3x + 4 =2 _u:/j’ 22 | State transitive property. _Q/__:q/'J(JLL"MG g
g Q.3: Attempt any 2 question. g
2 1 1
& 1 | Solve xzx_l - — gxﬂ ,XE +1, JAS 7t
£ 2| Solve —=2-—=,x#2 JF| o
g 3 | Solve & verify. V2x—3—-7=0. -Q/fJbzzsiq/f g
o o
o o
o o
o o
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CHAPTER # 08 {( [

Q.1: Choose the correct answer.
1 If (x-1, y+1)=(0,0) then (x,y) is:

a) (1,-1) b) (-1,1) c) (-1,-1) d) (1,1)
2 If (x,0)=(0,y) then (x,y) is:
a) (0,1) b) (1,0) c) (0,0) d) (1,1)
3  Point (2,-3) lies in... quadrant: ??5;@@,&(2,-3)
a) I b) I c) 1 d) 1V
4  If y=2x+1, x=2 theny is:
a) 2 b) 3 c) 4 d) 5
5  Which ordered pair satisfy the equation y=2x: ?93134_5!)72: y=2x.:.J:L»J:33LJ/
a) (1,2) b) (2,1) c) (2,2) d) (0,1)
Q.2: Attempt any 10 questions.
- "d/c’_"jf...f p . )
1 | Define ordered pair. SRty /:( 9 | Draw the graph of -y=2x. JStoiS
-
§ ) Find value of m & c of the
5 Define Cartesian plane or Qs LS55~ I 10 following line by
coordinate plane. -J/JdeP expressing in the form of 3 - ;:
T y=mx+c where x-2y=-2 "@ pakcity.org %’:’
(5 Find value of c of the
3 P $6 dsaie
3 | Define coordinate axis. 27 o 11 elawrigd @
S expre t e form of
) ere 2x=y+3.
%@\/alue of m & c of the
: - s lowing line by
4 | Define origin. —-U’/'/J/)J@@ expressing in the form of
y=mx+c where 2x+3y=-1.

Verify whether point (5,3) 2x-y=1 S S I P

5 | Define collinear points. (@a@%wp( 13 | lies on the line 2x-y=1 or

not? -Uffwfg”écf/”
Difference b/w abscissa & \ VA AP \/ern‘y whether point £L.1) 2X'V=1.‘<(f%/@’.ﬁ
6 _ | 14 | lies on the line 2x-y=1 or .
ordinate. -U?-JU/ noER _ﬂgwdu/vw
7 | Draw the graph of x=2 Sy S| 15 gtigc_hothe FaRt i S SeSy
8 | Draw the graph of y=-1. ..ufi:ﬂ,_.slf 16 gl;iigthe grph il i _uft,,__sufgju
CHAPTER # 09 ( )
Q.1: Choose the correct answer.
. Distance b/w two points (0,0),(0,1) is:
Kn byl (0,0),(0,1)
a) 0 b) 1 c) 2 d) N7
5 Distance b/w two points (0,0),(0,1) is:
K leliyrnZ (0,0),(0,1)
a) 0 b) 1 c) 2 d) V2
3 Mid-point of the points (2,2),(0,0) is:

< L501K (2,2),(0,0)

e e
:::A"nr—mnm --»_-:-_-;_

eleieiedoleeiotolololofofolololofofooodofofoloolofofololodofoololofofodololofofofololofofolololofofodolodolofofododololold.]
elelofofofofoloolofofofofoloolofofofofolololofofofofolotolodofofofololololofofolofololofodofolofoloolodofofololofolotololotol.]
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a) (1.!1) b) (1;0) C) (011) d) (-1:_1)
A Mid-point of the points (2,-2),(-2,2) is:
- B0 K(2,-2),(-2,2)
a) (2!2) b) ('2:'2) C) (0,0) d) (1:1)
5  Atriangle having all sides equal is called: _ﬁ4143wd/6ublrv“£f&i‘>£lug
a) Isosceles b) Scalene C) Equilateral d) None
Q.2: Attempt any 10 questions.
sl b5 L ine ri P Seds_a sts
1 | Find the distance b/w A(9,2),(7,2) | &%~ = | g |Definerightangled ety
-LZ/PL’”J""E triangle. ey
sl b5 & s 3 P e dsf oy il
2 | Find the distance b/w A(0,0),(0,-5) 10 | Define scalene triangle.
S Lt Sl
. . U.VJJLE@Z%-J Find mid-point of ;
. 11 5
3 | Find the distance b/w A(-8,1),(6,1) -qj/pl’”.w A(9,2),(7.2) ..u“/(}"‘.!zﬂld,l,m
. . . -—E'J/j'd/b@bﬂ Find mid-point of :
. 12 e .
4 | Define collinear points oS A(0,0),(0,-5) -q/plv,wdy )
PS4 F i id-poi ; ;
5 | Define non-collinear points. 4 Z/j( 13 (I-;l)n(c; n'g)d point of A(2, _Lg/(k’,b}ﬁdyﬂ
6 | Define triangle. v/ Fledx | 14 | Define iq\u\ﬁ}%\é\ SIS,
. . _ Sl woyi§ss ordlnate PSSR b
7 | Define equilateral triangle. .| 15}
| gomen »
., [P
o . ch}fﬂfdaw@ C‘*@ pakcity.org
8 | Define isosceles triangle. e
watas
Q.3: Attempt any 1 question. - A\QQ
Find ‘’k” given that the point (2,k) is e from : o o e s
11378 (gg ). point {2,k) b e b6 S e e G
, | Show that the points M(-1 3@5 3), P(1,-3) & Q(5 —£IM(-1,4), N(-5,3), P(1,-3) & Q(5,-2)8 [/ 47
2) are the verticals of a paraltelogram. eSS
CHAPTER #10, 11,13 & 14 ( )
Q.1: Choose the correct answer.
1  Two lines can intersect only at ... points: w&/’.’ﬁ,;m-_..fg/»,gm,#u
a) 0 b) 1 c) 2 d) 3
2 Medians of a triangle are ....- s s
a) Concurrent b) parallel c) Intersect d) Equal
3 Ratio has .... Units.- ERO O
a) 0 b) 1 c) 2 d) None
4 Symbol used for congruent is:- ;‘;gt"ﬁ(ju
a) ~ b) = c) = d) ~
5  Symbol used for similarity is: —e YK
a) = b) = c) = d) ~
Q.2: Attempt all questions.
When two triangles are said to be J/;;Ur t.,L..,.J- . g A St oy 15
_ ¥ 200 el _ - oL
1 | congruent or define congruent 8 | Define parallelogram.
triangles. - L N

efejejeodedededededeadededododedddddddddddddd ddddddddddddddd

Please visit for more data at: www.pakcity.org

elelolelololololololodofofofofefofodofofolololololol 1.1,

Q

oleloo1ooo1o oo o oo oooototoolotolodolol ol o],



ofefodogodoqododododododeoddd d d dododododododeododododododeded ddded i d d d i i

o o
a b?/j.J,&rz’:’)-g_}b-J . o _ ) a
£ | 2 | state AS.A postulate. 9 | Define similar triangles. _Lg/bg/d/ut‘lfa,&? o]
- :
S RISy, i
o 3 | State S.A.S postulate. 76 d 10 | Define ratio. _U/bg/J;,:.J o)
: g
P oSS }
o 4 | State S.A.A postulate. Surtr u“ 11 : i : ey N o)
g NIy c%pakmty.org %o 3 g
& Sovor P f Find the unknown. values Jr’b”tc-uﬁ’o"d&u’ o
o 5 | State S.S.S postulate. _| 12 | of x & m for the given o
e} S/ congruent triangles. E o
g The given figure LMNP is a QIS O g
o 6 | Define triangle. _qj/.ng_w.ﬁ 13 | parallelogram find the (}L”‘M:JCJI_.?.CMUI o
values of m & n.
o RN -
o - — &
gF | 7 | Define line segment. S PS5 o]
o o
s CHAPTER # 12 | ) e
g 1 | Define right bisector of a line segment. LTS PSS L o8 g
g 2 | Define bisector of an angle (angle bisector). sl plf e holl sl g
Prove any one of the followings.
o A0 o
g 1 Any point on the right bisector of a line segment is dﬁuaus/@\‘f}iﬂw’fd'ua-@"lad:/:ibﬂtfc’w»ﬁ g
5 equidist from its end points. \?Q <& £n 0 | gy
The right bisector of the sides of a triangle i N\ ¢
g . c0rc::crtljgrrentlsec or of the sides of a triangle is @ _wiﬁﬁﬂdﬂtd)fécwléwo)/ g
ﬂ An d
y point equidist from the end points of a Ime@fﬁ o e . s
g 4 segment is on the right bisector of it. 'K”QJLU’JLDP’J”J"”"'yw'd""""u’/ib’*”’Ufb"ﬂ(’/' g
ﬂ 4 Any p'omt on the bisector of an angle is U@Ef _Lngd,pc,ws}l,éi,bﬁug,q/,,._aﬂténuu/ d
o from its arms. ﬂ : = o
N
O CHAPTER #- o
o] 7™ : 7 (o]
£ | | red LS y | e | B
I 1 | Define area of the figure. . 4 | Define rectangular region. _q/,y/J,;J&V o
-l
o ‘ o
g . , . w4l Define altitude or height ER G PRN-IRY TN - |
o 2 | Define triangular region. _q/_g/’J.auool’ 5 of thabd@fillelogram. . | d
a ..:_‘_Jl/kf n
o] . Jrisus . f Define altitude or height See Pbal et | £
g 3 | State congruent area axiom. 6 N7 A, a
- Sl 5 of the triangle. 7 1
(o Prove any one of the followings. [ o
Triangl | b d of | altitud . s o
g 1 e;llajglgissat:gjqua AsesEnn ol eqial allinas ..d/um,u¢.}‘Jo:un,:t,:cwélmuﬁdu/,:u’ls'gﬁ.,gﬁu.?“’w g
ﬂ Parallelogram on the same base & b/w the same y - d
p 2 parallel Iignes are equal in area _ujdﬁ,»;uuf,.?;d@lCWUI(})!?JI}C@JU;I/,JJIdl:@g}:fﬁ'/.u p
& ' ; o
g 3 Parallelogram on equal base & having the same u:fu.l.rwé-/—btffdﬂ?ﬁm'bu’ﬁ'ﬁd@'bwﬂwdﬂ?c‘j'h;.u’l?d"u..f' (o]
(e (or equal) altitudes are equal in area. -f:«/.uu:,;s’m(um.uwﬂivg) [ e}
o o
o o
& - —— — o
o m"-*__:—AﬂF" FRIAZJALALI .
u :'—— = —— —— ——— p
o J o
o o
o o
o o
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g The medi QU swer. ddaaa
a a) 1ans Of a tri ESTIONS aaa
] |ang|e ﬂ
o 2 |T sic cut each &
he diago other’s i
(o] a) nals b) s in the rati o]
Of era A
o B parallelo 3. tio: g2 2 o
p Q.2: Isect gram . v “L—/bb}:.:-u_,)
a . Attempt o b) sane eaCh Other . C) — J___--}(L' B g
1 | Stat y 10 questi Tri R — 2: st tal C
u e Pyth stion risec -V " 1 1L &L a
agoras’ S. : oLl
o as’s The : (175 L E o 315 d) ]
ore ) Lifl,«'
g 2 || Dew i /. Intersect = g
ine ri -/ 2 55
a rlght triang|e ~ Jfbgp 7 Defin ) d) E a
p 2| oo . Jw triangeleln'center o qual a
p efine acute tri f-’")’l;}ls- : //d a
g triangle. 'J,/J/B' 8 Define cire Py g
3 , 9
ﬂ 4 | Define a Jwgﬁl}}lmb brisngle. mcenter of ??""/yﬂ;, a
p gle. S 9 efine o Ll p
o s I - triangle rthocenter of ey o
Defi " *"'/"" ' . [/ A/
o ine concurrent || ey yg | Detine STt Lk o
o nt lin ¢/ efine centroi o
5. tria roid of
B | Defi 2/ nele | yr I/ &
g I_eflne it A varify tha A\ o PSS Lk o]
o ines. of conc 11 | havin ia o | B
a urrenc "U.:/ , g@) i ngle a
Q y Of uf O . @ > Ing me 'J/
o] 3: At SNV P Q) Is right- asures a= |
Co tEmpt b3 b3 \'\Q b t angled ) 5cm, b=1
B | 1| Comtrucrad any 1 quesh ¢ I _12cm, c= e bz s o
g A5 Yem ABC in WhIChest'—O"' é—’”{" > , c=13cm. (St AL U g
2 Constr — mAB=3 e Q\JUM L 'C=13".
gy || m<B- uct a AABC i 2c, MBC= em | £
a C _600_ in which X =4 2em a
3 | -°" mAB=4.8¢ ’
g m struct a AA Wcm =2 d
_ BCi "mBC-=
a <B_450- Cin WhICh mA_ BC=3.7cm a
g 4 EonStruct A i B=3,6Cm ATy ’ ub g
ypot right a ' =758 BB
o ek n it el el £ mc | g
a one side is measure of wu) y a
g - 3.2 cm. whose ne >t AABC g
. ind the .Zdud/b(_;,
. val : L1 1 AV 7
g 2. Find x ue of x if [2 1 Csisem3Uds LA U Uk AABC g
o e E I gyl
o - anig| B
a) T
a -&-cm ﬂ
. =
X
o 3 o)
o b) o
o -
o v 5 £
o o
o o
S0 4 5
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3. Find the area of square. 4. Find the area of rectangle.

o@ pakcity.orgi%o

dcm 2cm

4cm

IMPORTANT LONG QUESTIONS.

1. Exercise # 1.6 Q.1: Cremer Rule and Inverse Rule.

2. Exercise # 2.4 Complete, Review Exercise Q # 3, 4@6, 7.

3. Exercise # 3.4 Complete, Law of Logarithm <>@><i

4. Exercise #4.1 Q.5: (i, iv, vi). é@ﬁ\
se#ta, AR

Exercise # 4.2 Complete @@

6. Exercise # 5.3 Completef\ ¢

7. Exercise#7.1,7 plete.

8. Theorem Chapter 12 (1 to 4).
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